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UNIT 2 Name Date
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Loy A (. 4 - product
» Vocabulary ‘Qk(rhg o 1, &% i
Choose the best word from the box. B e
- - multiple
1. A(n)! is an arrangement of objects in

columns an rows. (Lesson 2-4)

2. A(n)S%_ﬂﬂ“rs a product of a whole number Q,)’Z ;#;
and itself. (Lesson 2- 6) <

3. 80is a(n) [y J_\ﬁfof 10. (Lesson 2-12)
10, 20,20, 40,30, &9 7(*‘ ,TO

» Concepts and Skills

4. Explain how to use the order of operations to find
the answer to this expression. Then find the answer. (Lesson 2-10)

3+4x5 &3
Y- pefove. ¥
W5 = 0+2=3>D

5. Describe how to use mental math to find 90 x 8. (Lesson 2-12)

~ & WP
7«.9»(, (1:‘7/\9/—”\_)’(
Fmd the answer. (Lesson 2-10) (’S N oY = -3
6. (7 2y % s= |9 18—3—_“/+ ol
Multiply or divide. la é
(Lessons 2-1, 2-3, 2-5, 2-6, 2-7, 2-8, 2-12, 2-14)
8.7 x 8=P¢ 9.6°9=F5q| 10. 55 + 1 =55
1.72+9=[3 12.30 x 0 =) 13.407 =[]
14.4¢3=/5 15.2 % 10 =[5/ ] 16. ¢, |=8x 8
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"Daview / Tock ~
Multiply or divide.
(Lessons.2-1, 2-3, 2-5, 2-6, 2-7, 2-8, 2-12, 2-14)
17.8 ] x 3 =24 18.28 +[ 7]=4 19.3 x 90 = (274

. | SHBRUETE (o §
20.[¢] 65%‘& 2.[ () naz I*S=3D
f rezt4a

» Problem Solving &5

Write an equation and solve the problem. 51{5\' ?i
(Lessons 2-2, 2-4, 2-7, 2-9, 2-10, 2-11, 2-13, 2-15) €
22. The area of Keshawn's garden is 64 square feet. Its width is

8 feet. What is the length of this garden?

REL

23. Carrie foun@eash at the beach. Her brother found
seashells. The dividggﬂwe seashells equally among
/fbe ple. How many seashells did each person get?

A (= ey
(74P 3=5  1543=
| 24. Mr. Alberto has@tudents tinto teams of{ 8.

hree high

The number of teams will bqually for't
school students to coach at practice. How many teams will

each hxigh sch‘ool studer‘mt get? .
451 DTS- A « M 7
o7 -+ e

25. Extended Res‘pons'e Marci has 7 bean bag dolls. Lucy has
2 bean bag dolls. Janice has@he number of dolls as
Marci and Lucy combined. How many dolls does Janice
have? Explain the steps you used to solve the problem. Then

vrite an eqguation to show the steps.
T+ I 2B ]S
Iy a= 12

Auedwog Buysiignd 1noareH ulyiy uoybnoH @
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